
JEDNAQINE MATEMATIQKE FIZIKE - decembar 2004

1. Rexiti Koxijev problem u I kvadrantu




x2uxx − y2uyy − 2yuy = 0

u(1, y) = y

ux(1, y) = y

2. Rexiti mexoviti problem





utt = uxx − 4u, 0 < x < 1, t > 0

u(0, t) = 0

ux(1, t) = 0

u(x, 0) = x(x− 1)

ut(x, 0) = 0

3. Rexiti mexoviti problem




ut = uxx + u−
(
x− π

2

)
t2 + t(1− π + 2x)− 1 + 2 sin 2x sin x, 0 < x <

π

2
, t > 0

ux(0, t) = t2

u
(π

2
, t

)
= t

u(x, 0) = 2 cos x

JEDNAQINE MATEMATIQKE FIZIKE - decembar 2004

1. Rexiti Koxijev problem u I kvadrantu




x2uxx − y2uyy − 2yuy = 0

u(1, y) = y

ux(1, y) = y

2. Rexiti mexoviti problem





utt = uxx − 4u, 0 < x < 1, t > 0

u(0, t) = 0

ux(1, t) = 0

u(x, 0) = x(x− 1)

ut(x, 0) = 0

3. Rexiti mexoviti problem




ut = uxx + u−
(
x− π

2

)
t2 + t(1− π + 2x)− 1 + 2 sin 2x sin x, 0 < x <

π

2
, t > 0

ux(0, t) = t2

u
(π

2
, t

)
= t

u(x, 0) = 2 cos x


